Primary 5-a-day Gold

Name:

25th December

830 x 12

el
el B

1.3 kilometres = metres | 0.04 kilograms = grams

Here is a regular octagon with two vertices
joined to make the line AB.

Join two vertices to draw a line
perpendicular to AB 8

A

Departure times What is the latest bus he can take from
1400 | 1600 || Randalstown?

Antrim 12:30 13:00
Randalstown 12:45 13:15 14:15 16:15
Ballymena 13:01 13:31 14:31 16:31
Ballycastle | 13:39 | 14:09 15:09 | 17:09

Riley is in Randalstown and wants to be in
Ballycastle by 15:00
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